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WY/ T YN\ There Is more
- than £10 but less 7 _‘

than £11. ,
Is correct? ' '

There can’t be £11 because I
can't see any £1 coins. Is this correct?

How do you

2
e’ g\ know? @
> Y £¥ YE 5WZ_3740

(O gt

N
fean
O
fé:;,
(8
=
=)

Uingd W Vo
oy
Pe

N




16
1 23/1/20

G| _In Focus ]
q

B 15@ 5 o (3
5 n
iy ® .

é ;";';;::": G S SR NN S
9; \50 @EE YWY There Is more
3 - than £10 but less

than £11. | 7 j

There can’t be £11 because I . This is
can't see any £1 coins. incorrect.There are

lots of ways to

.

e 9 make £1 without a @
1 \ £1 coin.
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How could the coins be grouped into £17
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o How much Is this?
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This Is £1 and 30p.
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This s £1.
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Do the following work in Guided Practice

HOLH' virtual school book These wallets and purses have been emptied.

'or on Paper_ ] How much money did each one contain?
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Can you group any of the coins to make £17?




16| Naming Amounts of Money

¢
»811 o How much money does each item cost?
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The dress costs

(b)
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The toy train costs .
(c

The school bag costs
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(b)

Container A contains

Container B contains

6%

;5.Group the 3

. {0coins to
make £1.
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